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1. RO f(v,y) OREREE fo(2,v), f,(z,y) ZK (3) fy(z,y)
o XK.

(1) flz,y) = 2° — 227y — 3y?

(2) f(z,y) = cos(x — 3y + 2) (4) f.(1,1)
(5) fy(1,1)

(6) ZOREBD v =1,y = 1 ITMIET B RUTEBIF 5%
FHE D TR

(3) f(z,y) = xcosy — ysiny + sin(ry)

3. VHORP OEMEREE (z,y), MEEZ (r,0) 35
L ERDIICEZ K.

(1) z & r,0 TRE.
(4) f(2,y) = *™ cos(3y)

(2)y & r,0 TRE.

(3)r & x,y TRE.

(4) zy & 1,0 THRE.
2. B f(r,y) = V4 —222 — 2 ITDOVWTRDDHD%
Ko k.

(1) f(1,1)
B)r, Zx,y £/l r 0 TRE.

(2) falz,y)




(6) cosf Z z,y TRE.

(7) (cosb), & z,y £721F r,0 TRE.

(8) 0, & z,y F72iF r,0 THE.

9) (logr), & z,y 7% r,0 TRE.

(10) (logr),, + (logr),, % x,y L7zl r,0 TRE.

4. f(x,y) =2®+ 62y + 32 ITOWVWTRDDDZRD XK.
(1) fo(z,y)

2) fy(,y)

(3) fula,b) = f,(a,b) =0 & &F=F 5 (a,b).

(4) fau(z,y)

(5) fay(,y)

(6) fyy(x, y)

(7) (1) TRD= (a,b) 20H% 1) IH LT

fuo(a,b)  fuy(a,b)
fay(a, ) fyy(a,b)

(8) f(x,y) DHHE.



